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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2016 

 

Subject Name : Electrification of Building and Complex 
 

Subject Code : 2TE06EBC1    Branch: Diploma(Electrical) 

    

Semester :   6     Date :  09/05/2016   Time : 02:30 To 05:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 
 

 
Q-1  Attempt the following questions: 

 

(14)  

 a)  What is the angle between the pole and stay? 

A. 30 °                     C. 60 ° 

B. 45 °                     D. 10 
o
 

 

 b)  Utilization factor’s value depends on  __________ 
A. Height of Mounting          C. Color of ceiling and wall 

B. Illumination Area              D.  All of the above 

 

 c)  ___  maximum load that can be connected in a circuit connecting only lighting 

points? 

A. 500 watts                           C. 800 watts 

B. 750 watts                           D. 1000 watts  

 

 d)  IS : 2032 (PART-1)-1962 code for ____________. 

A. Electrical Circuit.                                                  C.  Electrical Earthing 

B. Electrical Circuit Diagram & Wiring Diagram     D. Electrical Costing 

 

 e)  _____Code use for Cable Installation and Maintenance. 

A. IS: 1234-1983                    C. IS:1255-1986 

B. IS:1235-1988                     D. IS:1255-1983 

 

 f)  Depreciation factor = __________________ 

A. 1/ utilization factor              C.  1/2 * Utilization factor 

B. 1/Maintenance factor          D. 1/ π* maintenance Factor 

 

 g)  _______ lamp is used in the outdoor illumination of buildings and airport runway? 

A. Halogen lamp                     C. Sodium vapour lamp 

B. Gaseous discharge lamp     D. All of above 

 

 h)  Section 44 refers to_______________ 

A. Penalty for interference with meters 
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B. Penalty for illegal transmission or use of energy 

C. Penalty for maliciously wasting energy 
D. Theft of energy 

 i)  ___________state in India does not follow IE (Indian Electricity rules). 

A.  Sikkim                               C.  Nagaland 

B. Jammu Kashmir                 D.  Mizoram 

 

 j)  RCD means____________ 

A. Resistance Core Device        C. Running Connected Device 

B. Rotor connector Device        D. Residual Current Device 

 

 k)  NEMA means_______ 

A. National Electrical Manufacturers Association 

B. National Electrical Maintenance Agreement   

C. Node Electrical Main address. 

D. None of the above 

 

 l)  Which type of energy meter is used for load above 60A. 

A. CT operated Energy Meter 

B. PT operated Energy Meter 

C. Energy meter Without PT 

D. Energy Meter without CT 

 

 m)  Which Indian Standard used for selection of CT & PT for 3-Ø energy meter? 

A. IS : 12345              C. IS:11444        

B. IS:  56789              D. IS:11448 

 

 n)  ____ earthing Pit Provide to Pole Mounted Transformer.  

A. One                        C. Three 

B. None                      D. Two 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Explain Electrical wiring System. 7 

 B Describe Testing of Insulation Resistance between wiring and earth 3 

 C A office  having an area of 40 m * 15 m , and  2700 lumen output taken by 40 

Watt fluorescent lamp. 200 lux required in working area. how many lamp 

required in Office  

(assume  Coefficient  of Utilization =0.6 and depreciation factor =1.25) 

 

4 

 

Q-3  Attempt all questions (14) 

 A Write economical consideration in the Illumination design. 7 

 B Explain methods of design of lighting system 7 

Q-4  Attempt all questions (14) 

 A Prepare an inspection report for MV Installation of a consumer. 7 

 B Write points to be considered while preparing the estimate. 3 

 C Draw and explain typical Power Distribution for House Wiring. 4 

Q-5  Attempt all questions (14) 

 A Explain Smoke Detection System. 7 

 B Electric Fan, Light , Distribution Board, Switch Board are Shown in the plan of 

Residential Flat. Calculate 

I. Calculate No. of Sub-Circuit. 

7 
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II. Length of Conduit Pipe. 

III. Length of Wire 

IV. Total Estimation of Electrical Wiring 

Refer Figure No.2  (* Assumption for Example Refer Figure No. 1) 

Q-6  Attempt all questions (14) 

 A Explain Busbar and Busbar Chamber 7 

 B. Electrical Connection Plan Shown in diagram of one house. 

Calculate, 

I. Calculate No. of Sub-Circuit 

II. Length of Wire 

III. Prepare Estimation Table for Electrical Materials 

IV. Length of Conduit Pipe. 

Refer Figure No. 3  (* Assumption for Example Refer Figure No. 1) 

 

Q-7  Attempt all questions (14) 

 A Explain methods of Installation of Service Lines 7 

 B List factors affecting energy meter Installation 3 

 C Discuss Installation of Instrument Transformer 4 

Q-8  Attempt all questions (14) 

 A Explain general electrical safety in domestic and multistoried Buildings 

Installation. 
7 

 B List and explain Safety devices in Lift. 7 
 

 

 Figure No. 1. Assumption for Examples 
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FigureNo.2 (  Q-5 B) 

 

Figure No. 3 (Q-6 B) 
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ગજુયાતી 

Q-1  નીચેના પ્રશ્નો ના જલાફ આ઩ો. (14)  

 a)  ઩ોર અને સ્ટે ફને્ન લચ્ચે કેટ્રો ખણુો હોમ છે.? 

A. 30 °                     C. 60 ° 

B. 45 °                     D. 10 
o
 

 

 b)  યટુીરાઈઝેળન પેક્ટય ની કંભત   __________ ઊ઩ય આધારયત છે. 
A. ભાઊંટીગ ની ઊંચાઈ          C. દીલાર અને છ્ત ના યંગ 

B. પ્રકાળીત ક્ષેત્રપ઱               D.  ઊ઩ય ના ફધા 

 

 c)  ___  ભહત્તભ બાય રાઈટંગ ઩ોઈંટ તયીકે રગાલી ળકામ. 
A. 500 watts                           C. 800 watts 

B. 750 watts                           D. 1000 watts  

 

 d)  IS : 2032 (PART-1)-1962 કોડ  ____________ભાટે છે. 

A. ઈરેક્ટ્ક્િક સરકિટ                                                          C.  ઈરેક્ટ્ક્િક અર્થથંગ 

B. ઈરેક્ટ્ક્િક સરકિટ  ડામાગ્રાભ અને લામયંગ ડામાગ્રાભ    D. ઈરેક્ટ્ક્િક કોક્ટ્સ્ટંગ 

 

 e)  કેફર ના સ્થા઩ન અને ભયાભત ભાટે _____ કોડ નો ઊ઩મોગ થામ છે.. 
A. IS: 1234-1983                    C. IS:1255-1986 

B. IS:1235-1988                     D. IS:1255-1983 

 

 f)  રડર્થપ્રળીમેળન પેક્ટય  = __________________ 

A. 1/ યટુીરાઈઝેળન પેક્ટય        C.  1/2 * યટુીરાઈઝેળન પેક્ટય 

B. 1/ભેન્ટટંળન પેક્ટય                D. 1/ π* ભેન્ટટંળન પેક્ટય           

 

 g)  ફહુભા઱ી ભકાન ની ફહાય અને એય઩ોટ યનલે ઩ય _______રેમ્઩ નો ઊ઩મોગ થામ છે.. 
A. હરેોઝન રેમ્઩                    C. સોરડમભ લે઩ય રેમ્઩  

B. ગેર્થસમસ રડસ્ચાર્જ રેમ્઩     D. ઊ઩ય ના ફધા  

 

 h)  _______________ ભાટે સેક્ળન 44 હોમ છે. 
A. ભીટય ના છેડછાડ ના ગનુા ભાટે  

B. ગેયકામદેસય લીજ જોડાણ કે ઊ઩મોગ ના ગનુા ભાટે   

C. ઊર્જાના ખોટા વ્મમ ના ગનુા ભાટે  

D. લીજ ચોયી ભાટે 

 

 i)  બાયત ના ___________યાજ્મ ભા ં IE નીમભો રાગ ુ઩ડ્તા નથી. 
A.  ર્થસક્કિભ                                 C.  નાગારેન્ટડ 

B. જ્મમ્મ ુકાશ્ભીય                      D.  ભીઝોયભ 

 

 j)  RCD ____________ થામ છે. 
A. યેઝઝસ્ટંસ કોય ડીલાઈસ          C. યનંગ ક્નેક્ટ્ડ ડીલાઈસ 

B. યોટય ક્નેક્ટય ડીલાઈસ         D. યેર્થસડયરુ કયંટ ડીલાઈસ  

 

 k)  NEMA _______ થામ છે.  
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A. નેળનર ઈરેક્ટ્ક્િક ભેન્ટયફેુ્રક્ચય એસોર્થસમેળન  

B. નેળનર ઈરેક્ટ્ક્િક  ભેન્ટટંળન  એગ્રીભંટ   

C. નોડ ઈરેક્ટ્ક્િક ભેઈન એડે્રસ . 

D. એક ઩ણ નરહ. 
 l)  60A થી લધાયે ના રોડ ભાટે કેલા પ્રકાય ના એંન્ર્જી ભીટય નો ઊ઩મોગ થામ છે.. 

A. CT ઓ઩યેટેડ એંન્ર્જી ભીટય  

B. PT ઓ઩યેટેડ એંન્ર્જી ભીટય  

C. એંન્ર્જી ભીટય  PT લગય ન ુ

D. એંન્ર્જી ભીટય  CT લગય ન ુ

 

 m)   3-Ø એંન્ર્જી ભીટય ભા ં CT  અને  PT ની ઩સદંગી ક્યા ઈન્ટડીમન ભા઩દંડ ઊ઩ય આધારયત છે.? 

A. IS : 12345               C.  IS:11444        

B. IS:  56789               D.  IS:11448 

 

 n)  ઩ોર ભાઊન્ટટેડ િાસંપોભાય ભા ં____ અર્થથંગ  ઩ીટ હોમ છે.  
A. એક                         C.  ત્રણ  
B. એક ઩ણ નરહ.         D.  ફે 

 

Q-2 to Q-8  નીચેના પ્રશ્નોભાથી કોઈ઩ણ 4 પ્રશ્નોના જલાફ આ઩ો. 
Q-2  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A ઈરેક્ટ્ક્િક લામયંગ પ્રણારી સભર્જલો.. 7 

 B અથા અને લામયંગ લચ્ચે ના ઈન્ટસ્યરુેળન યેઝઝસ્ટંસ ની ચકાસણી સભર્જલો.  3 

 C એક  40 m * 15 m ની ઓરપસ ભા ં 40 Watt ના ફ્રોયોસન્ટટ રેમ્઩ ભાયફ્તે 2700 લ્યભેુન આઉટ્પટુ 
ભ઱ે છે. તેભા ંલરકિગ ક્ષેત્રફ્઱સયેયાળ 200 રક્સની જરૂરયમાત ઩ડે છે. તો આ ઓરપસ ભા ંકેટ્રા 
રેમ્઩ની જરૂરયમાત ઩ડે છે?   
(*ધાયો. કો-એરપર્થળય્નન્ટટ ઓપ યટુીરાઈઝેળન 0.6 અને ડીર્થપ્રળેસન પેક્ટય=1.25)  

 

4 

 

Q-3  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A ઈલ્યભુીનેસ્ન ડીઝાઈન ભાટે ના ઈકોનોર્થભક્ર મદુ્દાઓ સભર્જલો. 7 

 B રાઈટંગ સીસ્ટ્ભ ની ડીઝાઈનની યીતો   સભર્જલો. 7 

Q-4  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A ગ્રાહક ના MV પ્રસ્થા઩ન ભાટે નો નીરયક્ષણ અહલેાર તૈમાય કયો. 7 

 B અંદાજ તૈમાય કયતી લખતે ધ્માન ભા યાખલાના મદુ્દાઓ રખો. 3 

 C ઘય ના ઩ાલય રડસ્િીબ્યળુન નો લામયંગ ડામાગ્રાભ    દોયી અને સભર્જલો. 4 

Q-5  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A સ્ભોક ડીટેક્ટ્ળન સીસ્ટ્ભ સભર્જલો. 7 

 B એક યહણેાક ફ્રેટ ભાટે નો પ્રાન દળાાલેર છે. આ પ્રાન ભા ંઈરેક્ટ્ક્િક પેન , રાઈટ, ડી.ફી. ફોડા 7 
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અને સ્લીચ ફોડાન ુસ્થાન દળાાલેર છે. આ઩ેર ભારહતી ઉ઩યથી  

I. સફસરકિટ ની સખં્મા નિી કયો.  
II. કંડયટુ ની રફંાઈ ની ગણતયી કયો.. 

III. લામય ની રફંાઈ ની ગણતયી કયો.. 
IV. આ ઈરેક્ટ્ક્િક ઈંસ્ટોરેળન ભાટે કુર કોસ્ટ ન ુઅંદાજ કાઢો.  

આક્રુર્થત ન ં2  (* આ઩ેર દાખરા ભાટે ધાયણા આક્રુર્થત ન ં1 મજુફ રો.) 
Q-6  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A ફસફાય અને ફસફાય ચેમ્ફય સભર્જલો.  7 

 B. એક ભકાનના ઈરેક્ટ્ક્િક જોડાણ નો નકળો દળાાલેર છે . 

ગણતયી કયો. 
I. સફસરકિટ ની સખં્મા નિી કયો.  

II. લામય ની રફંાઈ ની ગણતયી કયો. 
III. કંડયટુ ની રફંાઈ ની ગણતયી કયો. 
V. આ ઈરેક્ટ્ક્િક ઈંસ્ટોરેળન ભાટે કુર કોસ્ટ ન ુઅંદાજ કાઢો.  

આક્રુર્થત ન ં3  (* આ઩ેર દાખરા ભાટે ધાયણા આક્રુર્થત ન ં1 મજુફ રો.) 

 

Q-7  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A સલીસ રાઈન ના પ્રસ્થા઩નની યીતો સભર્જલો.  7 

 B એંન્ર્જી ભીટય  ના પ્રસ્થા઩ન ને અસય કયતા મદુ્દાઓ રખો. 3 

 C ઈંસ્ુભંટ િાસંપોભાય ન ુપ્રસ્થા઩ન સભર્જલો. 4 

Q-8  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A ફહભુા઱ી ભકાન ના  પ્રસ્થા઩ન ભાટે ઈરેક્ટ્ક્િક  સયુક્ષા સભર્જલો 7 

 B રીફ્ટ ભા રાગતા સયુક્ષા ભાટે ના સાઘનો ની માદી ફનાલી અને સભર્જલો   7 

 


